2021HE 1

20214 42 162(2), 13:00

= 3|O|YUA| :

T12H)

|o| (ZOOM =

3

: H|CHH

fA

sjoly

g0

d

o

<
|

oy A &t

2020

2. 2020

=
S

ojL

2021EE 1A}

1.

0
7

iy
ilof

or!
oF

| 2t @ off oh

3. =

3|9t . 20208HAE WH|S|A| Aot Alo]

T K22

|AEEo] b

3

he

T wH|EA Bt

S

7t 2021

K

[E=xiz 1] &

jod

o0

eyl

Klo

7h %N

A A 2]

d

—_

4o
e
~l




(HSE 9IH%) ol cHalA EZARO|LE 21740] ASAIH EF SHFAIZ BIRLICL

IAFE XP7|0[ZRFZg0] MAiE| =7 S7t8t OlF70f Chal |

SIAEE : DIAE R7|0IE XIS0| 32 oY BIIGH FR Olfs =HAMY tEAS 52
A0l W} HUSLICL OIME X7[0[Z2E XIZ2E MEH 2 =EH =2A
o hSAE BA| 012 S0] 209, FZ2LIZ Q15 FAMAIY FA0|E=0] 1099
C2 1HHE D[tz BAIH gUoh #7384 tisfo] &450F sf= 7[E0|EE

HE2 1% 0|Pie= Exl= ehsUch

4. 9] Q171 @ of ChsH S0l My
5|0/0t74 @, 20208HAE OjjAt MK AEH AlQ|
7}, 2020SHAE Gt HR B AN BAIEIE0| IS K22 MHSIn RioR AN
Lt APEOF RUOITHR AlOBHAISIR MY So))

— |}

(=A== 2] ¥=

1. 20208t WH|Z|A 2ot Hol(en) @ et St

2. 2020&HAE OlAF ME ArS AlQ)(@f) : Bet St

20214 42 16¥Y (&)

<
o oy 0| A

Tl =

410
o
ﬁ
oA
of
1l
o
S\
€§
10

(o]
—

Ho
e
oN
e
o
A

(S

NGNS

4o
4
(@]
|'_|T_0
i

(@]

H0
10

oN

O

o
=

R

S




